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It is obvious! Do we know who the father is!?

OVERVIEW

X stated that if one of ten assembled 2°170 was Y12 a woman, the
ensuing child is a *p1nw. The XM questioned; in reference to what do we
consider him a >P1nw. It cannot mean that he cannot inherit his ‘father’; that
1s obvious, for we do not know who his father is! n19o1n will explain why
indeed we cannot say that X1 was discussing the inability of the child to
inherit, even in special circumstances.

mMooIN anticipates a possible solution to the s'X73 question of RvWD; it may be possible
that PX1w does need to teach us concerning the inability of this child to inherit:
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Here, the X723 did not want to answer that admittedly, the ruling of >Xaw
that the °mnw child is deprived of the inheritance, is generally not

necessary; except for the case if he seized the assets of his purported deceased
father.” In that situation YXmw teaches us that even though the *Pnw is in possession of
the assets,4 nevertheless we remove him from them, since we are not certain that the
deceased is his father. This would seemingly answer the s'X723 question of Rv w»!

moon will initially attempt to prove why this may indeed be a proper explanation of
s"R1w ruling, for we find this explanation elsewhere —
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as the X 3 answers in 19911 79wy P99 regarding a betrothed woman who

was pregnant. xmw stated there that the child of this 772w 701X is denied the
inheritance of the estate of his mother’s 017X. The X713 asked that this is obvious; we do
not know who the father of this child is. Why should he inherit the estate of the 017X? The
X3 answered that Xmw is teaching us that even if the child seized the assets of the
estate; nevertheless we remove him from it. We see from that X772) that even in a case

! This is meant to exclude elsewhere, where such an answer is given, as Mmoo will shortly state.

> We do not even know who the father is.

? The child’ claims that this person is his father.

* The child is the prmm. There is a P20, that possibly this person is the father. Perhaps the ruling should be
that 7°X777 12 112nn Xoxwn. The other heirs should prove that he is not the child of the deceased. See
‘Thinking it over’ # 1.

> An 701X is prohibited from having marital relations with anyone, including the o1, until the time of
R°1. The 017K, by being promiscuous, placed the paternal lineage of this 721 in question.
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where it is Xv*wd that the child does not initially inherit, nevertheless there is a necessity
to teach us that (even) if he took possession of the estate he may not retain it. The X723
could have answered the same in our case, that even though it is obvious that the child
does not initially inherit the estate of any of these ten people, nevertheless PXmnW is
teaching us that even if 090, he does not retain it.

NN answers that the case of an 017X is different than our case here:
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for there it is indicative; there are ample grounds to assume that she was
impregnated from the 9198 and we can assign the pregnancy to him; the

017X, more than from another person. It is more readily assumable that the child
was fathered by the 017X, since the 701X 017X were close to each other, and preparing to
marry each other. Therefore there is a w17°m, that even if the child was 0910, nevertheless
we remove from him any assets which he took. We do not assume that he is the heir.
However, in our case, where one person from ten was 12 this woman; there is no reason
to even think that if the child was 0910 the estate of any of these ten, that he has any right
to it. This person is in the minority. It is more readily assumable that his father is from the
other nine; the majority. Therefore it is Xvwd that even if the child was ©on, we
dispossess him.

SUMMARY
There is more reason to suspect that the 7017 became nN721v71 from her 017X,
than to assume that any specific one of the ten is the father of the child.

THINKING IT OVER

1. Why indeed do we not say m°X777 1°%¥ 1Mann X°xn if the child was 0on
(both in our case and in Pw17P)?° [especially if he was 2>7v2 R5w 0910 where
he a 13°n that *noon &»."]

2. How can we justify the X"177 of n1901n, that the child’s claim in our case is
equal to (or perhaps even stronger than) the child’s claim in the case of the
772YNIY 701R?

® See footnote # 4. See (n"n) 2"n , AW NPR LTV MR 700,
7 See x"2v.

2

TosfosInEnglish.com



